7.3~ Let y =24, n:642, and «= (100-9%)% = 0.05, so Zw«, = |.96.
o~ b _ 24 __4

@ P* = =%€az “lo7’
bBy 73-2,

[ 2 13('" *Zx/ﬁfl—} f0027-7 OOSZIJ
2 n 2 n

serves as an 35% confidence interval ,for P

ol By 7-3-‘|‘

B+ 2u, /n) ~2a [P(-F)/n s Tuy/(a) = 0.0262.
|+ 23{/2 /n

2 - = 2
B+ 2a, /an) t 2 |P(-F)/n + 2w, / (4*) _ o oss50.
| + 2:‘(/2 /I‘\
so, [0.0252, 0.0550] Serves as an 35% confidence
interval for P

2
d Caleulote P= 9459 /2 _ 50401 By 73-5
h+ E:}/

P 29.1 ?(l-g P zﬂL (l-B J=[0.0250, 0.05‘5?.],

f’H-tu f"H'tu

Serves as an 35% confidence interval for P
e We know that Zw«=1.645 Se, the one-sided 95% confidence

interval for that Provides an upper bound for P Is
[0, 442/ (l--‘%)} = [0. 0.0497).
h n

73-2  Let 4 =142, n=200 , and « = (100-90)% =0.| , SO Rwy = [645.
42
o P— n = J2ﬁ= O-’]
bBy 73-

[ 5/ (l-— Przy p(r—] [0.6572, 0.7628].
2 2

serves as an 30 % confidence interval for P
P+ z'ﬂ,g_ /@") ghx? JP(' $)/n 4 2“4/(45") = 06547
|+ %%Q/n




2 - = 2
P+ o, /n) Fea, JPO-$)/n + Zuy / (4nt) . 0.7537
I+ 2%(/2 /n

so, [0.6547, 0.7597 ] Serves as an 90% cor\{idence
interval for p.

2
d Calculate P=9t%% /2 ~0.7072 | BS 73-5,
n+ %i/

h+ta¢ h.|..t“

P hm p 2; P(l—g J:[o.6546, 0.7598 ],

serves as an 30% con{idence interval jor P.
ele know that Zx=1.28 Seo, the one-sided 90% confidence

interval for 'tht Provides a lower pound for p is
[_g__h/ 3 (-8 J: (0. 6689, (],
h n

7-3-6 We have that y= 1497, n=5757, and o= (l00- 98)% =0.062, so
Zeop =2.3263 and ']5=—B-=0-26°°. Then, an approximate 98%

confidence interval for‘ P

"Zx/ ('- +2.</ (l— } [0-2466, 0.2735].

7,4“| l&]E hav ¢ 0'"'2-4.84, £=0.4, “:([00—95)%:0_05) so ax/u.:l_ge_
2
Then n: Zotyy ot = (16.208%
83.
The.refore, the Sqmp\e size needed 1s |I7.

74-3 Giuen X =6.09, $-0.02, £=0.00l, o= (l00- 90)% = 0-), so 2;-.—:.545_

a The needed Sample size is

n:(%x,ze a)’- =(%.% 5)?-= 1082.4) ~ 1083

bSuppose n=129, X =6.048, §=0.622, «=(loo-90)%=0.1, S0 2= 1645
BP_CauSe n=)219 s |Qrge, we Cah aSSume T % S=0.022.

There{or‘e_‘ the 0% confidence interval it

[‘i—ze_«'g;, 7<+13L-°' =[6.o‘\7o, 6.04390]
N

: %)



¢ Caleulote 609- 6.048:0.092, it implies the mean has decreased
4.2 times by 0.0l pound. Because $ 14,000 would be saved per
year, then the savings pec year with these new adjustments is
(4-2)(14.000)= $58,500.
d Given x=6, then

2= X-AL - 6-6.098 _ _ 34
o ©.22 e

Therefore,
P(x<6)= P(L< 'Zl—l")= P(252%)= I-#(2¢ %)= 0.0146.

7-4-3 We know that £=0.09.and o¢= (100-99)% =0 .01, SO 24 =2.575.
ln afOir Six < sided die, we haye ?-’ %
ThaFEfo"E, the needed Samp\e Size 1§

n:(z"_‘i)z (‘F("’ﬁ)) - 2302.3 & 2303
81.




